FEUGTR o <i-He qS
ITEIRA ST LRTHTSAT ERTATE | STTshH I TXRRT WRIEI a8 Hagrret A1

TS oh -2
&% | /Y (a9 |[afSer Aa/ad | |[Jedr

l|e=ae ssga@m (g 56 [E=zare 3Fsg THE 7.4, 211
2 |e=ae e il 55 [Hge Ieg AEH 74, 211
e gaices (g 29[z s R 7.4, 211
4[ezg FTREm =t 25[6=ae qHadieh 74, 211
SJ RSN =i 26
6 [meg Rt q 59
[ [gwmn =i 54
8|Ffaa q 29
9lge q 21

10 [=rareft il 21

11 {wra= q 1

12|gxfret =t 66

13|t q 45

14[=r=m =t 39

15| q 37

16|21t il 29

17[&=e Fsiie q

18|wzae gxile il

19|w=zag rsmn =t

20|azag 3fle q

21 |e=ag et

22 [a=aeTg

23[Fer@r =

24| SActeTsTR q

25 |[aem =t

20 |gierer™ q

USRI =t

28 [wfcra il

29 [sfrear =t

30{7zrar =t

31|z q
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FATEIFHA ST RTATAT BTt/ AR AR AT 918 HAGRI AT

TS oh -2

&% |19 /Y |ag |afSe Aa/ad d|a |Jedrn
32 (g = 62|z TTTeE 7.4, 304
33|wma q 34|z ArTeT 7.4, 304
34| = 33| ArTE T4, 304
35| =t 69 [greaTdt Tt 7.4. 309
36 (gt = 54
37 |[ams q 52
38|egTH q 5
39w q 48
40 gt = 39|a
41|t =i 36
42 [a=iT = 36
43 [SHeraT = 21
44| g MaTHAR q 3
45|3a q 23|
46| rferstT il
47 ||l H q T4, 311-1
48|w{reT il a4, 311-31
49| 37feT=am =t 4. 311-31
50| €A q 7.4, 311-1
51[difa® q g4, 311-%1
52(gHEar el RlIEE T4, 311-%1
53|AE A ERIERIC] T4, 311-31
54|3mfera = b|HreRe I 7.4, 311-31
55 |erifrerer q 69 [wroreRerg g 7.4, 330
563150 =t 62 [srrefterTe g 7.4. 330
57 (< q 40|errefteTe g 7.4, 330
58|d=rmeir =t 39 (@@ g 7.4. 330
59|ger q 64 |vmTrT g 7.4, 330
60 |2 = 62 g g 7.4, 340
61|3arer q Algrr g 7.4, 340
62[dermelr = 42[arrsr g T4, 340
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63|31fAa q g gam T4, 340

64T <l 32|xfia g 7.4, 340

65|31 |aT = 87 [swriETTer sy Teres 7.4, 537/538
66|THr q 68 [T Yol 7.4. 537/538
67|g#e = 61 |wHer teres 7.4, 537/538
68|asT =t EIEIPRSEL =47 537/538
69[aTRT q 52 TR Yo .537/538
70|F3Te =t 45|E y5ieies =.4. 537/538
71|3=rmelr =t 34 |wf=a3 Yoo 7.9. 537/538
72|3TenTer q 22 |[gamy e 7.4, 537/538
73| TS =t 68 |rra 7.4, 537/538
7431507 q 70 [emrfaTTer 7.4. 537/538
75|emaT = 60 7.4, 537/538
76[3fx q 33|etr 9 7.4. 537/538
77 [T TS = 74| Feigm <o 7.4, 537/538
78[Te q TG RTH STeIc 7.4, 537/538
79(&farar =t 7.4. 537/538
80|3787r q 7.4. 537/538
81|aAfeg q 7.4, 537/538
g2[awr = 7.4, 537/538
83|31ferend q 7.4, 537/538
84|31fAa : 7.4, 537/538
85 [T s q 37 [wrer Yo 7.4, 537/538
86| 2frder il 32 |TTBTETRS SIS 7.4. 537/538
g7 |afae q 33 |[wr Yo 7.4, 537/538
88 |FTE I = 22 [afe ysiees 7.4, 537/538
IKIGIEIS =t 82|z ySaws 7.4. 537/538
90 |Fefrer q 50[& yiees 7.4. 537/538
LRI q 25 |@dter e 7.4, 537/538
92|TaT =t MR SEE: 7.4. 537/538
93 |[FTTeTe g 86 [wrfierTer foRiifean 7.4, 540
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94 (gfgoT q 56 [wrrerTer fRtaRm T.4. 540

95 |erferdr =t 48| wferor ottt =.4. 540

96 |TGTaTS =t 63 e yfSieq] 7.4, 553

97 (@t q 35 {9 oS T.4. 553

98|x@r =t 3l (et qeieg 7.4, 553

99 |erTdTETS =t 67 [T oSieq =47 553
100 q 43 |FET=T Sieq] . 553
101 [gsar =t 32 |G geieq =.9. 553
102|glareTs =t EICKERIEE] =.4. 602/605
103 rdTeTS il 76 [oraa g9 =.4. 602/605
10431 = K RENRIEE O 7.4, 602/605
105 |3roTer q 43[R 7., 602/605
106 |[Fafrar = 37 7.4, 602/605
107 [XAer q 63 7., 602/605
108|@TT = 53 7.4, 602/605
109(3dg q 32 7.4, 602/605
110 |MATETS =t 7.4, 602/605
111 (AT il 7.4, 602/605
112|cr&aT = T =.4. 609
113 (g fRrem = =.4. 609
114[Qfea q =.4. 609
115|8dY 7.4, 609
116|=Aar i 2[drar MY 7.4. 609
117|fReiR q 35 |ferget it 7.4, 609
118|37aTaTet q 65 [rrroT i =.4. 609
119[Tgarel = 55 | ¥TaT T 7.4, 609
120(TceT q 35 |+rmam i =.4. 609
121 |31farar il 23 [ i 7.4, 609
122 |1 S q 64 |[FrrroT i =.4. 609
123|FeT=TT = 54 |[TesTETR S T 7.4. 609
124|fraeT q 86 |vrs @ 7.4, 620
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TS oh -2
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125|geI1eTs = 19| forem @me 7.4, 620
126|HTI[ETS <l 72| farear e 7.4, 620
127 [cr&HoT q 61 |ferera @
128|aelT = 55 |rewor AT
129 (aToTer q 34 e T
130 [sife=ir = 28 [Torer @i
131 (7 q 33 |rewor T
132[wfAwT = 26|mRr e
133|3rarer q 29 [Fremor Ame
134(q=T = 23 [T A 7.4, 620
135|#gIg, q 44 [forem e O 7.4, 620
136|FH3TeT =t 50(wemg. & 7.4, 620
137|AgT q 45 7.4, 620
138|feToT q Qb 7.4, 620
139|HaTeT = g 7.4, 620
140|fearer q =.4. 620
141 (A frar = 7.4, 620
142 | ¥eher q =.4. 620
143|dregreTs =t 7. 626
144 |aTeraTes q =1.7. 626
145|fasrar CICARIRE IR T4, 626
146 |fastle 46| FrstTeT Ame T.9. 626
147 @Rt = 9|foe A 7.9, 626
14821 q 29 |[aTesTeTR e M =.. 626
149|7Mka q 21 [TTBMERe IS 7.9, 626
150 (=gt = 21 |forig e =.. 626
151 | AR = 23T g 7.4, 626
152 [F=Telr = PALNERE I =.. 626
153[I1aig q JISUSIPRGED T.4, 654
154(3fFem = SR GED 7.4, 654
155|g fererm = 64 |erg Tash 7.4, 654
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156/ forcieT q 43|erE udeh
157 ||l=ATelr = 39|fet qaek
158 | sfvepicT q 35|E gaeh
159 | TRastr = 31 |sfepTa den
160 [cTemeer q VRIS ERGED
161 [T q 22 [Trsi5 Tah
162|FST q 66 |[Str=Ter Teeh
163|dgeTT =i 59 [sriTer aaeh
164|31fasia q K EEEIPRGED .
165(g o = 30|sfrsita gaeh o4, 654
166/ rzient = 33 O T4, 654
167|3frarsrelr LSl 31 =4, 654
168|331 q 29 T4, 654
169 |€ardir il 36 =4, 654
170(9fcem =i =4, 654
171|317Rasdr il =4, 654
17239 q =.4. 660
173 | =t =.4. 660
174|9ahrer q =.9. 660
175 |Qrpctelr = =.4. 660
176|EaTcl = - 7.4, 660
177|gf@d ECINCH) 7.4, 660
178[dWR q 5| ot T.4. 660
179(q=T = 23 [Ty waeft =.4, 660
180|g farer q 20 | srehrer et 7.4, 660
181 Qe q 57 |foremaTer weaeft =.4, 660
182 |sael = 52 [Tifgere qeaeft 7.4, 660
183|Irher q 32 [Ufgere qeaeft 7.7, 660
184|Frm = 21 [TrereT TEasft 7.4, 660
185|Tg o q 28|Cifeere waft 7.4, 660
186 [GleTelr = 24|t et 7.4, 660
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187 |87t etrel q 69

188|g#eTr il 50

189|3Rg q 35

190|aferdr il 29

191|a&HT q 31

192|g HHda q 55(«

193|3STeAT =i 48

194(TdT q 43[a

195|HrAT = 38

196(¢far q 25

197 [STHFATETS <l 73|«

198|s1aTAIHTE g 26

199|T&HOT q 59

200(g ST il 57

201 | ARl q 34

202/ 37relT il 34

203 |rerer q

204|FIdTETS =t

205 [HATEAT g

206 ||fadr =i

207 |lreT q

208 [T &

209|3HTeT q

210|fg=T il

211 |HeTATT q

21231l g

213 [3gTeT Sl

214|af@#H g

215|3RAT =t

216|TSteTd =i

217(3ImAE q
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218 [sTTedTerm Sl 28
219 |fRraTsiT q 65
220|HTATETS =il 53
221Gy q 38
222 |qeerdr il 35
223 (aToTer q 34
224 |HTAT Sl 26
225 |HsirsT q 28
226|fearer q 26
227|T&erean q 55
228|T2ier il 48
229 (3T LSl 45
230|312ieR q 30
231 |31felar il 24
232|IRTETS =il 24
233|fheik q 38
234 (AT LSl
235|eT8HY il
236[AgT q
237 |shermadr =t =.4. 384/385
238|dTg q 7., 384/385
239 el =T =.4. 384/385
240|31farer q 7., 384/385
241 AT =t 38|arfrar sfeee =.4. 384/385
242 |fRrarsir g 40[tw sfese 7.4, 384/385
243 (g fAar il 38|Rrarstt afeg e 7.9. 384/385
244[TTS], q 37 [tw afeEs 7., 384/385
245|fareer il 26[tS] afeRe 7.9. 384/385
246 (31T g 23|eme afeRs 7.4, 384/385
247|31RasT =t 20|13 afeRe 7.9. 384/385
248|31fSia g 19|se fess 7.4, 384/385
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249 |forziehr = 18|etf ez 7.4, 384/385
250{ R q 18|erfer afees 7.4, 384/385
251 (312l g 59 [Greream foee 7.4, 397
252|FATel =t 54| s1eTieR fueet T.4. 397
253|319 =t 2637211k fueet 7.4, 397
254 |3ehear q 60 [@eT T =47 423/424
255 | ATl =t 45 |g@RTeaT S . 423/424
256 |fexT q 57 |wToraa S =.9. 423/424
257 |ATHST q 57 [|eT e T.4, 423/424
258|&HT = 50 (e @ T.7, 423/424
259 ||earear q 48 l O T.9. 423/424
260 |7 = 44 T.7, 423/424
261 |H e q 36 u.4, 423/424
262|3eTelr = 31 T.7, 423/424
263|fasra q 34 T.9. 423/424
264|FATeT = T.7, 423/424
265 |aTReRr il a4, 423/424
266 |4 q T.4. 423/424
267|371reT =t u.4, 423/424
268 |GeTel q T.49. 423/424
269|]ifea q T.9. 423/424
270 | 3fa=ATer : T.49. 423/424
271|ser i a4, 423/424
272|HRAT = T.4. 423/424
273|JFRHA q T.4. 428
274|qrarcir =t T4, 428
275 | q T4, 428
276 AT LSl =4, 428
277|315 q 7.7, 428
278 |HTa=T il T4, 428
279|3Rfd g q 7.9, 438
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280|2TReT = 56 |ewfag Ame
281||dy q 35|eTfarg Ama
282(F3rd = 31 [aamy ame
283(drAT = 31 |exforg A
284|aToTer q 32|3mferg Ame
285|STTegdr = 21 [wroreT THS
286 |fataTeT g 30|exfag Ame
287|AsTTeastT = 25| e
288 | e q 28|eTferg e
289|Fger q 26| 9ma
290|3arer q 31 |ewfag A O 7., 438
291 (97T FaX q 52 |[qrreaTt a4, 372/73
292|amI AT =t 47 ’ "4, 372/73
293|(2Yelx q 45 (gt 7.4, 372/73
204|fRerar wew  [&f 43| iy oo 7.7, 372/73
295 |fegarex q 27 7.3, 372/73
296|315 q "4, 372/73
297 |iferar =t a.4. 372/73
298 |FHearofy =t "4, 372/73
299|STerer q a4, 372/73
300|faferar "4, 372/73
301 (37T T4, 832
302|fe¥elAT =i 9lsd we T 7.4, 832
303|31ATe q 28| e a geT 7.4, 832
304|Aferent = 21 |aTieT T&TgT 7.4, 832
305|317 dr =i 22 |+a FeET 7.4, 832
306|451 q 33| AT TS T.4. 396
307 |fas T q 31 oo TTerest 7.4, 396
308|afaeT q 33| AT TS T.4. 396
309 |feaTelr = 29 [afe et 7.4, 396
310(efdr il 56 | aTa=T Terest =.4. 396
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311|3MeMETS =t 65 [T sTrEe T4, 444
312 |fererer q 41|t et T4, 444
313[AfAwT = 40| ferT st o7, 444
314|Tmrer q 38 [T et T.4, 444
3155 = 33
316G q 35
317 |9 =i 25
318|aTer q 50(=
319|FaTaTS =t 68|21
320|8g = 58|=
321 |Faceirer q 20
32231 q 39
323|312l q 35
324|f¢Tsr q 30
325|3EATA q 2
326 |3TRITei =t 65
327 [HERTST q 65
328|erdr il 5






